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QUESTION 1

Click the Exhibit button. 
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Referring to the exhibit which two statements are true? (Choose two.) 

A. Untagged control packets entering interface ge-0/0/1 are not recognized. 

B. Untagged data packets entering interface ge-0/0/2 will be tagged with VLAN ID 20. 

C. Untagged control packets entering interface ge-0/0/3 are passed without a VLAN tag. 

D. Untagged data packets entering interface ge-0/0/3 will be tagged with VLAN ID 1. 

Correct Answer: BD 

 

QUESTION 2

Click the Exhibit. 

You are configuring dynamic rendezvous points for your PIM multicast domain. You have chosen to use auto-RP as the
dynamic RP mechanism. You are not seeing the auto-RP announcements. 

Referring to the exhibit, which two configurations will solve this problem? (Choose two.) 

A. Configure the dense-groups for addresses 224.0.1.39 and 224.0.1.40. 

B. Configure the interfaces for sparse-dense mode. 
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C. Configure the rp for the mapping function. 

D. Configure the interfaces for sparse mode. 

Correct Answer: AB 

 

QUESTION 3

Click the Exhibit button. 
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You are configuring a new BGP session between router1 and router2. The session does not establish. 

Referring to the exhibit, what must be done to establish this session? 

A. You must define the peer-as number on router2. 

B. You must define the autonomous- system number under the [edit routing-options] hierarchy on router1. 

C. You must specify type as external on both devices. 

D. You must specify the local-address on both devices. 

Correct Answer: D 

 

QUESTION 4
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What information must you gather from the satellite device to provision a Junos Fusion Enterprise deployment on the
aggregation device? (Choose two.) 

A. MAC address 

B. Serial number 

C. Software version 

D. Model number 

Correct Answer: AB 

 

QUESTION 5

Click the Exhibit button. 

You are configuring MSTP to prevent loops in your Layer 2 network. After applying the configuration, you notice that
MSTP is not working correctly. 

Referring to the exhibit, what is causing the problem? 

A. Too many VLANs have been defined. 

B. Context identifier must be specified. 
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C. MSTI-to-VLAN mappings must be the same. 

D. Incorrect revision number is used. 

Correct Answer: C 
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